
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

7157 × 0.001 = ________ 6908 × 0.001 = ________

8384, 7 × 0.01 = ________ 1676, 3 × 0.001 = ________

6256, 1 × 0.001 = ________ 9032, 3 × 0.001 = ________

9263, 8 × 0.01 = ________ 4592, 7 × 0.0001 = ________

2536, 7 × 0.0001 = ________ 6659 × 0.1 = ________

5348 × 0.1 = ________ 8448, 2 × 0.01 = ________

1037, 6 × 0.01 = ________ 7059, 8 × 0.1 = ________

3507, 9 × 0.01 = ________ 7162, 8 × 0.001 = ________

9374, 3 × 0.001 = ________ 8714, 7 × 0.001 = ________

3596, 3 × 0.001 = ________ 4738, 3 × 0.001 = ________
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

7157 × 0.001 = 7.157 6908 × 0.001 = 6.908

8384, 7 × 0.01 = 83.847 1676, 3 × 0.001 = 1.6763

6256, 1 × 0.001 = 6.2561 9032, 3 × 0.001 = 9.0323

9263, 8 × 0.01 = 92.638 4592, 7 × 0.0001 = 0.45927

2536, 7 × 0.0001 = 0.25367 6659 × 0.1 = 665.9

5348 × 0.1 = 534.8 8448, 2 × 0.01 = 84.482

1037, 6 × 0.01 = 10.376 7059, 8 × 0.1 = 705.98

3507, 9 × 0.01 = 35.079 7162, 8 × 0.001 = 7.1628

9374, 3 × 0.001 = 9.3743 8714, 7 × 0.001 = 8.7147

3596, 3 × 0.001 = 3.5963 4738, 3 × 0.001 = 4.7383
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